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Iz FZEEIA 1,719,000 2,304,000 -585,000
- T XATH ZEEEIRA 1,719,000 2,304,000 -585,000
E |2 i AE R IR - BERERIA 1,719,000 2,304,000 -585,000
* BEIFEUIAGHD 1,719,000 2,304,000 -585,000
& EEEIH 1,719,000 2.304,000 ~585,000
%P BREEERREXE 53,000 52,000 1.000
y | X LRE S 30,000 83,000 ~53,000
3 EFREEXH 1,000 550,000 -549,000
0| H HHETH 1,622,000 1,606,000 16,000
X BHEXH 13,000 13,000 0
— BETHZHEQ 1,719,000 2,304,000 -585,000
BEXFHESINZEEQB)=(1)-(2) 0 0 0
=, 4z 0 0 0
4 |- A [FEEREHEFINAGA) 0 0 0
B3 0 0 0
;«;Té H R EEE T HEG) 0 0 0
Al IR EHEE R I E58(6)=(4)-(5) 0 0 0
E ' 0 0 0
gz A | FOMOEERAGD) 0 0 0
Tizo| ¥ 0 0 0
~gg‘3 H | 2Dt EEBX HEHE) 0 0 0
| ZRthDERE E IR ZER(9)=(7)-(8) 0 0 0
FimEX H0) 0 0 0
L HE SN ERSET1)=(3)+(6)+9)-(10) 0 0 0
IR X Th & & 0% (12) 0 0 0
LRI ERES01)H12) 0 0 0
IRAEE 1,719,000 2,304,000 -585,000
X HEE 1,719,000 2,304,000 -585,000
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SZEEUIA 37,482,000 40,436,000 -2,954,000
4y HEETAZEERIRA 37,482,000 40,436,000 -2.,954,000
A i AIE R B - EEFERIA 37,482,000 40,436,000 -2,954,000
FEFHIAEG) 37,482,000 40,436,000 -2,954,000
- AHEH 31,355,000 33,989,000 ~-2,634,000
4 BB HO 32 15,621,000 17,392,000 1,771,000
BEEESXH 4,372,000 4,722,000 -350,000
E 3 EEHREKRSXI W 6,914,000 7,166,000 -252,000
EEfRFE X 4,448,000 4,709,000 -261,000
& EZEXH 4,803,000 5,479,000 ~676,000
HESREEMERN 261,000 200,000 61,000
L REEH X H 183,000 213,000 -30,000
- SEHXH 924,000 930,000 -6,000
S| X EXTE- S 302,000 320,000 ~18,000
IS HFEREFEXH 50,000 50,000 0
BHIRRHE 252,000 270,000 -18,000
5 | w REBEZH 42,000 42,000 0
e RE X 42,000 42,000 0
4z HEMREE X H 74,000 119,000 -45,000
FREREXH 55,000 55,000 0
X BEEREXE 293,000 493.000 0
= ERTREIH 2,161,000 2,801,000 -640,000
FHREXH 19,000 22,000 -3,000
REPFIX 45,000 0 45,000
EHlEXH 225,000 265,000 -40,000
BREEXH 19,000 19,000 0
EREXH 230,000 200,000 30,000
BHEEEXH 230,000 200,000 30,000
EEITHZTHEQ 36,388,000 39,668,000 -3,280,000
BEXFHESINZEEQ)=(1)-(2) 1,094,000 768,000 326,000
m | IR
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Rl TR B EE R INT EFE(6)=(4)-(5) 0 0 0
— H—E AR S REEARIRA 1,000 1,000 0
z | & H—EXARSEHBARIIA 1,000 1,000 0
| A FHBAELY-CARSMBARIA 1,000 1,000 0
S| [FOBOEHRATO) 1,000 1000 0
%P EEROEBARIH 1,094,000 768,000 326,000
A X EEXRSBBASTH 1,094,000 768,000 326,000
E{J H HLENBERSBBASIH 1,094,000 768,000 326,000
LE ZDHDEE R HEHB) 1,094,000 768,000 326,000
ZOMDEEN T RINZ EFA(9)=(7)-(8) 1,093,000 -767,000 -326,000
¥ i & X H(10) 1,000 1,000 0
LHEEINE EZZE SR 1)=(3)+(6)+(9)-(10) 0 0 0
BIEAR % Th B & b= (12) 0 0 0
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IRAEE 37,483,000 40,437,000 -2,954,000
X HE 37,483,000 40,437,000 -2,954,000
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ITERRERIRA 18,124,000 18,124,000 0
BENEIETERIIA 8,527,000 8,527,000 0
IR ITEFHENERRA 8,527,000 8,527,000 0
MEPIH-BEETIELEEEIA 9,597,000 9,597,000 0
EXTTPN 9,597,000 9,597,000 0
ZIHEBERYEIRA 1,000 1,000 0
A ZIFIERSSITA 1,000 1,000 0
SZHF BEHBINA 1,000 1,000 0
—~ FEFEBUAG) 18,125,000 18,125,000 0
e AEEXZH 2,913,000 3,007,000 -94,000
" FEYEHREXTH 2,512,000 2,589,000 ~77,000
EERMERH 401,000 418,000 -17,000
SE BEEXH 17,124,000 17,130,000 ~6,000
HEREEMAEXH 295,000 295,000 0
)| REEH X H 218,000 218,000 0
EEfXd 1,050,000 1,056,000 -6,000
(< HiFEXH 470,000 470,000 0
HpkESETH 200,000 200,000 0
& | x EES s 270,000 270,000 0
2 KREXBEXH 42,000 42,000 0
BB REXH 42,000 42,000 0
Iz HHEMRE T H 50,000 50,000 0
t: EEE X T 200,000 200,000 0
b3 RS AREX H 82,000 82,000 0
— BIEEHRESZH 150,000 150,000 0
(BEAEXH 13,879,000 13,879,000 0
FRHXZH 410,000 410,000 0
iGN ) 0 0 0
RFH R H 278,000 278,000 0
EHREXH 40,000 30,000 10,000
fRREEERH 40,000 30,000 10,000
FERTFEIRTHEH2) 20,077,000 20,167,000 -90,000
FEEESINZ E3E(3)=(1)~(2) -1,952,000 -2,042,000 90,000
=, 1)y 0 0
|21 A [HERBHEZIRAGG 0 0 0
o B3 0 0
@%‘ H SR EE X HEG) 0 0 0
Al R EEEE I EEE(6)=(4)-(5) 0 0 0
— | U 0 0
LE% A [ZOMOEHIRATD 0 0 0
2 1)) Y—EXRSERASTH 1,000 1,000 0
mﬁﬁ * Y—EARSHEBASTH 1,000 1,000 0
id) H AEN-EE-UARSRBAS I 1,000 1,000 0
— Z DD ;EE X H EH(8) 1,000 1,000 0
B ZDRDEHE FIRZ ZEA(9)=(7)-(8) ~1,000 ~1,000 0
Pl E X H10) 100,000 100,000 0]
I E 2 UNZ EEESEH11)=(3)+(6)+9)-(10) -2,053,000 -2,143,000 90,000
AARZILEESRS(12) 2,053,000 2,143,000 -90,000 |
LRI ERZES01)+(12) 0 0 0
IRAEET 20,178,000 20,268,000 -90,000
X & 20,178,000 20,268,000 -90,000
=515%= 0 0 0



